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1. RHERBHEOHE

{REERBHIEL LNGELPGO AT (B Z#EHE) OEBIHLT,
BA.REHESEMOMHYDEM) ZHBIIHETT.

ELHE T R HHli4% (83,350, ) EF R FHEHE (3~54 ARID3s A DLNGELPGORM A M) D ZZE100M [ZDF,
1méizY 0.081H (Fitk) ABLET,

2. FHMLEHRERE GIm/A) DIREDH A& (202056 A1kt 5)

() FEHEFEEDETE
<LNGF g A ffitg > < LPGF 8 A ffi g >
52,920 (H/%.) x 0.9576 + 52,260 (/') X 0.0466 = 53,111.508 (M/".)
= 53,110 (H/".) X10AREEMIBEEA
(2) FHRPHIE R ET Y RPHER O EE (RHMEEEEEE) OEE
< BEET YRR > < FAYRBHER >
83,350 (4/*.) - 53,110 (4/*.) = 30,240 (F4/*.)
= 30,200 (/") X100 REELNIET
B REHCHMAEIEOEE
<[RRHEEEEIEE> <HEHE>
30,200 (/%) X 0.081 (A/m)

100 (A/*.) X (1

= 2691 (H/m) MINEAESRUTZEY LI

+ 010) = 26.9082 (A/m)

(4) EME R FRA) DEE (—RARMIGHIR HERBOHE)
<EEBEHE>

<ftEHEBMmEE>
169.03 (A/m) — 26.91 (F/m) = 142.12 (A/m)
(B %) 2020F5A st OREH S B LD B
<202056 A DR EF S HE > <202055 R DIt EH S HE >
14212 (F/m) - 14221 (F/m) = A0.09 (F/m)
(5) A& (202046 A&t 5. Fish)
<EAEE> <PEEHE B> <AREAE>
1,588.88 (M/A) + 14212 (FH/m) X 31 (m/8) = 5,994.60 (A/A8)
= 5994 (M/R) MIARBEUIET
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